OO0ooO0o0ooD (oooon) May 11, 2011 (Wed.)

(1| R?*0000 f = f(z,y9) O
flay)=a®+y* —a? —ay—y’ +a+y—1
O000000000000000000000

()(x?y):
0000000000000 0000000O0000UoOoooOY(H)OoooOoO

1 (1,1)00000000 f(z,y) =0000000 y=¢(z)00000
(2) (1)0000 ¢(z)0 Taylor 0000

o(x) =ag+ay(x — 1)+ ag(z — 12+ O((z — 1)3) (x = 1)

uboboobodd ag,a,ee 0000000

(®),..., fm(®)), = (z1,...,2,) eR") 000 g : R™ —
y),y=(v,....ym) ER™) 0 C'O0DO0O0O0OOOOO
ogoodooooooooogao

(1) 0000 (go f)(x) = g(f(x)) O JacobiD O D(go ) 0000
D(go f)(x) = Dg(f(z))Df(z)
00000000000
(2) n=m=100000000 go f O Jacobian Jyop 0000
Jgof (@) = Jg(f(x))J5(x)

gooooooooon

goboooooooo

e DD ODOODODOODLOODOOODLODLOOODLDOOODLDOLODOOODDLODLOOODn
googbooobobooboobuooboobooboooboobooboobg
gbobmoooooooooooooooooog

e JOUODOOIDOODODOOODODODODODODLODODLODO
e JIDOUOIXDOODLOUOOUODOUODODUUDOODOOODO

e NIIDDOODDOODOODDODODO

goooooo
ubboobooboboobbooboobobooboayd



